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What is Word Stress?

Aol Lawui 9B b
In English, we do not say each syllable with the same force or strength. In one word,
we accentuate ONE syllable. We say one syllable very loudly (big, strong, important)
and all the other syllables very quietly.
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Let's take 3 words: .
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Photograph, photographer and photographic. Do they sound the same when
spoken? No. Because we accentuate (stress) ONE syllable in each word. And it is not
always the same syllable. So the shape of each word is different.

Total syllables | Stressed syllable
PHO TO GRAPH 3 #1
PHO TO GRAPH ER 4 # 2
PHO TO GRAPH IC 4 # 3
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This happens in ALL words with 2 or more syllables: TEACHer, JaPAN, CHINa, aBOVE,
converSAtion, INteresting, imPORtant, deMAND, etCETera, etCETera, etCETera
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TEACHer, JaPAN, CHINa, aBOVE, converSAtion, INteresting, imPORtant, deMAND,
etCETera, etCETera, etCETera

The syllables that are not stressed are weak or small or quiet. Native speakers of
English listen for the STRESSED syllables, not the weak syllables. If you use word
stress in your speech, you will instantly and automatically improve your
pronunciation and your comprehension.
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Try to hear the stress in individual words each time you listen to English - on the radio,

or in films for example. Your first step is to HEAR and recognise it. After that, you can
USE it!
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http://www.englishclub.com/pronunciation/pho-tograph.wav
http://www.englishclub.com/pronunciation/photo-grapher.wav
http://www.englishclub.com/pronunciation/photograph-ic.wav

e Al 3 jalsll

Why is Word Stress Important?

- Word stress is not used in all languages. Some languages, Japanese or French
for example, pronounce each syllable with eg-ual em-pha-sis.

- Other languages, English for example, use word stress.

- Word stress is not an optional extra that you can add to the English language if
you want. It is part of the language! English speakers use word stress to
communicate rapidly and accurately, even in difficult conditions. If, for
example, you do not hear a word clearly, you can still understand the word
because of the position of the stress.
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General Rules of Word Stress in English
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here are two very simple rules about word stress:
aodSl 2y e s> aaoaddl aclgsll o Ulegr Lidg

1- One word has only one stress.

(One word cannot have two stresses. If you hear two stresses, you hear two
words. Two stresses cannot be one word. It is true that there can be a
"secondary" stress in some words. But a secondary stress is much smaller than
the main [primary] stress, and is only used in long words.)
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2- We can only stress vowels, not consonants.
Here are some more, rather complicated, rules that can help you understand where to
put the stress. But do not rely on them too much, because there are many exceptions.
It is better to try to "feel" the music of the language and to add the stress naturally.
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1 Stress on first syllable

rule example
Most 2-syllable nouns PRESent, EXport, CHIna, TAble
Most 2-syllable adjectives | PRESent, SLENder, CLEVer, HAPpy

2 Stress on last syllable

rule example
Most 2-syllable verbs to preSENT, to exPORT, to deCIDE, to beGIN

There are many two-syllable words in English whose meaning and class change with a change in
stress. The word present, for example is a two-syllable word. If we stress the first syllable, it is a
noun (gift) or an adjective (opposite of absent). But if we stress the second syllable, it becomes a
verb (to offer). More examples: the words export, import, contractand object can all be nouns
or verbs depending on whether the stress is on the first or second syllable.
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3 Stress on penultimate syllable (penultimate = second from end)

rule example

Words ending in -ic GRAPHic, geoGRAPHic, geoLOGic
Words ending in -sion and -tion teleVIsion, revel Ation

English Tip

For a few words, native English speakers don't always "agree" on where to put the
stress. For example,
some people say teleVIsion and
others say TELevision. Another example is:CONtroversy and conTROversy.
tu =iVl 0\ (Wlo i Loy
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4 Stress on ante-penultimate syllable (ante-penultimate = third from end)

rule example

Words ending in -cy, -ty, -phy and -gy | deMOcracy,
dependaBllity,
phoTOgraphy,
geOLogy

Words ending in -al CRlItical, geoLOGical

5 Compound words (words with two parts)

rule example

stress is on the first part

For compound nouns, the BLACKbird, GREENhouse

stress is on the second part

For compound adjectives, the | bad-TEMpered, old-FASHioned

stress is on the second part

For compound verbs, the to underSTAND, to overFLOW

1- Can you pass me a plastic knife?

2- China is the place where I was born.

3- Please turn off the television before you go out.

4- I can't decide which book to borrow.

5- Do you understand this lesson?
6- Sparky is a very happy puppy.

Stress on Verbs

2 syllables — if verbs — basic rule, the second syllable is accented.

Examples: in'vent, re'form.

If the final syllable is weak then the first syllable is accented

Examples: ‘open, ‘enter
Adjectives — ‘lovely, ‘yellow

Je9VI (o9 il
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Examples: in'vent, re'form.
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Examples: ‘open, ‘enter

‘lovely, ‘yellow- wlaall
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Let’'s NOW Explain the Stress of Verbs Only.
J59 JeoVI 5\ Ll VI i
Two Syllables-Verb
cebiio wld Jlel

| Verbs | on the last syllable | release admit arrange |

Verbs - 3 syllables
gblio Y Ul Jlel
Verbs — is the final syllable is strong then it will be stressed
Laiaid| Josw Sl 98 Ul S99 jus VI ghiodl ULS 131 - JlesYI
Examples : under’stand, enter'tain

on the last part

Verbs (the verb part) understand
(prep. + verb) overlook
outperform

- If the last syllable is weak, stress will be on the preceding syllable if it is strong.

Examples: en’counter, de'termine
Soall 98 OIS 13| @y Sl glhaoll 8 WS, il s SVl ghsosdl OIS I5] —
oMel Jlodl (59 LS
- If both the second and third syllable are weak, the the stress will go to the first
syllable.
9 LS JoVl ghsoll (08 UeS, il (tuns Il g bl ushsoll MS OIS I5] =
obs Jlwll
Examples: ‘parody

Phrasal Verbs versus Compound Nouns derived from phrasals

Phrasal verbs (a.k.a. two-word or two-part verbs) are generally made up of a verb
and preposition. For many of these, correct word stress is especially important as
they have compound noun counterparts. In the following examples, the words on

the left are phrasal verbs. The words on the right are nouns.
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In phrasal verbs, the preposition gets the word stress.
sauiodl 98 Hzdl B> adsell Jozdl olowl (59
If they have a noun counterpart, however, it gets the stress on the first part.

saciu Sl 9o JoVl penalls uaidl S odl poodl (b Lol

let down letdown
shut out shutout
print out printout
turn of f turnoff
take over takeover
Phrasal Verbs | on the particle turn off
buckle up
hand out
Let's Discuss Noun Stress
sloww VI duini pind L
Nouns on the first syllable center
object
flower

Nouns - if the second syllable contains a short vowel, then the stress will go to the
first syllable. If not, it will fall on the second syllable
Examples: ‘husband, ‘placard, ‘window, ‘money, bal’loon, Chi'nese, can’teen

Ul g oVl ghsoll (o)l i 4Sgills b dle (sle Sgiz (il ghsoll OIS 151 - sloww VI
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3 syllables Nouns —

if the final syllable is weak or ends with {shwa}, then it is unstressed. If the syllable
preceding this is strong, the the stress will go to the middle syllable.
Examples: re'lation, po'tato, e'leven, sy’nopsis

If the second and third syllable are both weak, the the stress will go to the first
syllable.
Examples: ‘yesterday, ‘innocence, ‘bachelor, ‘wanderer

sloawVl— gblao LMW
Gy Sl ghsoll OIS 15 .500ie jue 999 {loi} wWeuay pis gl waues 3Vl ghsoll OIS 13
Jowgll glasoll (sl wd iy il ((Sgd
Examples: re'lation, po'tato, e'leven, sy’nopsis

JoVl ghsoll (sle sy il (awes loaMS cJll g bl glasoll OIS 131
Examples: ‘yesterday, ‘innocence, ‘bachelor, ‘wanderer
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Compound Words
Stms with hyphen “air-raid”, smts as one word “strawberry”, smts as two words “desk

lamps”

Compounds with an adjectival first element and the —ed morpheme at the end

Examples: Bad-tempered, half-timbered,

heavy-'handed

1S )0l wlodsJl

ouinlSS gzl “strawberry” dodsUl @slsl jgizdl Mair-raid” (-) ouanlpll deogoll j5ixl

. “desk lamps”
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rule

example

For compound nouns, the
stress is on the first part

BLACKbird, GREENhouse

For compound adjectives, the
stress is on the second part

bad-TEMpered, old-FASHioned

For compound verbs, the
stress is on the second part

to underSTAND, to overFLOW

Compound Words

Nouns on the first part desktop , pencil case
(N+ N) bookshelf , greenhouse
(Adj. + N)
Adjectives on the last part well-meant
(Adj. + P.P.) (the verb part) hard-headed
old-fashioned

IV. Homographs

Homographs are words which are written the same way but which have different
pronunciation. In English, there are many words which have the same spelling, but
whose part of speech changes with the word stress. If you listen carefully, you will
hear that the vowel sounds change depending on whether they are stressed or

unstressed.

VERB NOUN
record record
progress progress
present present
permit permit
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Word stress patterns
Complex words

- words made from a basic word form (stem) + an affix
- compound words — words composed of separable root morphemes. (football)

Affixes — prefixes (comes before the stem, example: impossible) and suffixes (comes
after the stem, example: happiness)

1aodSJl v bledl
1S ol wleds
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(football) JlawsW albld a)i> wlowd g0 o @eSo WlodS -auS ,odl wledSIl -
olsl )i> a=y iU ) a>lell (impossible :Jlio (aodSJl ,i> Guws ) (@l - wla=loll
( happiness:Jlio

Suffixes

Suffixes carrying primary stress — the primary stress is on the first syllable of the
suffix. If the stem consists of more than one syllable then its first syllable will take a
secondary stress

Lo=>1gll
o0 UeSo dalsll )i> ulS 131 . 5>W JeVl ghsoll (sle &8s oVl ayanindl - gl 3aisi Joxs
Soldl pasaadl sl JoVl glasoll O glhso o LS|
0Us| alioVl 9 oS
Ja'pan -> ,Japa’nese
-ee’ -> ,refu’gee
‘-eer’ -> ,mountai’neer
‘-ese’ -> ‘portu’guese’
‘-ette’ -> ,ciga’rette
‘-esque’ -> ,pictur'esque

Suffixes
Suffixes that do not affect stress placement

“-able” ‘comfortable
“-age” ‘anchorage
“-al” ‘refusal, ‘rebuttal
“-en” ‘widen

“-ful” ‘wonderful
“-ing” ‘amazing
“-ish” ‘devilish

For verbs with stems containing more than 1 syllable, the stress is always on the
syllable immediately preceding “-ish” e.g. re’plenish
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“-able

comfortable
“-age” ‘anchorage
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“-al” ‘refusal, ‘rebuttal

”\

“-en” ‘widen
“-ful” ‘wonderful
“-ing” ‘amazing
“-ish” ‘devilish

S=>lgll
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Suffixes

Suffixes that influence stress in the stem

In these examples primary stress is on the last syllable of the stem.

“-eous” ,advan’tageous
“-graphy” pho’tography

“-jal” de'nial
“-ic” cli'matic

“-ion” per'fection

“-ious” in‘jurious
“-ty” tran’quility
“-ive” re'flexive
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Word with added
ending

Economic
-ic Geometric
the syllable Electrical
before the ending Technician
-tion, -cian, -sion graduation
cohesion
-phy, -gy, -try, - Photography
cy, -fy, -al biology
the third from Geometry
the last syllable 5 0 over
-meter Thermometer

Barometer
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